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Presentation System by Personal Computer Connecting with Video Projector
(The instruction in automatic control engineering 1—1 Bode diagram)

Tatsuo TAKAHASHI, Masashi NAKATSU
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Abstract

A trial program running on a computer using a computer assisted instruction system has been

made for the effectiveness of the instruction in automatic control class.

The aim of this program is to make the students have an easy understanding of the meaning of

Bode diagram, one of frequency response system, by showing the diagram operated on a large screen.
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90 DIH CDATS(I5) DIM VL(10):DIM ZETA(10)

MIPP- 4

FILENAME B:BODE.AC

180 *

185 CONSOLE 0,25,0,1: \"OLOR 7.0,0,7

190 SCREEN 3,0 : CLS

195 WIDTH 40,25

470 CLS 3

515 GOSUB sWAKU

516 FOR LOS=0 TO 1500 :NEXT LOS
520 GOSUB *COURSE

525 LOCATE 0,22

530 PRINT " 3 -2 O & % £ AhT (r&aw”

540 ANS
546 IF

NKEYS
B" GOTO 470

547 IF ANS$:="S" GOTO 100

548 IF ANS$z"R" GOTO 100

549 IF ANS$="E" THEN 7880

550 IF VAL(ANSS)<1 OR VAL(ANS$S)>I THEN 540

560 CLS 3

650 ON VAL(ANSS) GOTO *Bl,*B2,*B3.*Bd,*BS5,%B6,*B7,*B8,*BY
700 *R1 Taok Kok R LB R K R X X

702 CLS 3

704 WIDTH 80,25

710 GOSUB *SCALE1

720 LOCATE 12,11:PRINT "0"
730 LOCATE 68,11:PRINT
740 LOCATE 68,9:PRINT
750 LOCATE 68,13:PRINT
752 LOCATE 25,5:PRINT “g "
753 LOCATE 25,10:PRINT

o -
755 LOCATE 20 O:PRINT "% * » AHAROBEOH - FRE * * 5

760 X1=128:K=
OG(I\)/LOGHO)

X2=128+DV*1

810 LGY=LOG(K}/LOG(10}

820 LGY=20%LGY

830 G\2=IN‘|‘HRJ LGY*8)

840 DY

850 LINE (X1,GY1)-(X2,GY2),2
860 LINE (X1,DY1)-(X2,DV2),3
870 X1=X2:GY1=GY2:DY1=DY2

880 NEXT I

990 ANSS= I\PLTSK 1)

992 IF ANS GOTO *B2

993 IF ANS " OR ANS$="r" GOTO 100

mo

994 IF ANS
995 IF ANS

1002 CLS 3:WIDTH 80,25
1010 GOSUB *SCALEl

1012 LOCATE 13,1:PRINT “20"
1014 LOCATE 13,6:PRINT "1
1020 LOCATE 14,11:PRINT
1022 LOCATE 12,16:PRINT
1024 LOCATE 12,21:PRINT
1026 LOCATE 68,6:PRINT "
1030 LOCATE 68,11 :PRINT "60"
1033 LOCATE 68,16:PRINT .
1040 LOCATE 68,21:PRINT
1042 LOCATE 25,15:PRINT

u -
1043 LOCATE 25,5:PRINT "9 ~
1050 LOCATE 20.0:PRINT "* * * A3 @ ROWBAO K - FRI * * 7
1055 DEG=90

NT(184-1LGY*8)
[344-(DEG*81/3")

DYZ=INT(344-(DEG*8)/3"
LINE(X1,GY1)-(X2

CLS 3:WIDTH 80,25

GOSUB *SCALE1

1512 LOCATE 13,1:PRINT "207

1314 LOCATE 13,6:PRINT “10”
ll 11: 0"

1542 LOCATE 6H,11:PRINT
1534 LOCATE 68,16:PRINT
1340 LOCATE 28,5:PRINT g
1542 LOCATE 25,15:PRINT

5 -
1550 Lourz 20,0:PRINT "% * * Iy B R OB GO

NT(184-LGY*8)
NT(24-(DEG*H)/31)

COPYRIGHT BY M.NAKATSU

IN 1989.2

" OR ANS$="e" GOTO T
S" OR ANS$="s" GOTO 7890
1000 *B2 Tk ok ok ok B ST Kk x

GY2) .2
Y191-1X2,DV2),3

GOTO
GoTo
GOTO 7
NSS$ 0TO 7
A A R A B R A

1640 Dy2= lNTlZl-!DEG‘E)/S
1650 LINE(X1,GY1

)

-1X2,G6Y2),2

1660 LINE (XI.DVI)-(RZ DY2),3

1670 X12X2:GY1=GY2:DY1=DY2
1680 NEXT I

1994 IF
1995 IF ANS$="R"
1996 IF ANS$="E"

*B2
100
7880

1997 IF ANS$="S" OR ANS$="s" GOTO 7890
2000 *B4 BEEREN T.F X X LI

2002 CLS 3:WIDTH 80,25
2010 GOSUB *SCALEZ

2020 LOCATE 10,1:PRINT "50"
2022 LOCATE 10,5:PRINT "40"
2024 LOCATE 10,9:PRINT “30°

2026 LOCATE RINT “20"
2028 LOCATE RINT “10"
2029 LOCATE RINT 0"
2030 LOCATE :PRINT 80"

2040 LOCATE 6 PRINT "60"
2050 LOCATE
2052 LOCATE
2054 LOCATE

2056 LOCATE RINT "g "
2057 LOCATE RINT “§
ZUSE LOCATL 20,0:PRINT "% ¥t - Y8 £

2060 X1=112:
2061 AzWT 241
2062 LGY=LOG(A)/LOG(10)

2063 LGY=10*LGY
2064 GYI=INT(344-LGY*8)
2066 D ATNIWT)

2068 DEG=(DEG%180)/3.14159
2070 DYI=INT(344-(DEG*64)/20')

2080 DV=1

2090 FOR I=1 TO 416

2100 X2=112+DV*1

2102 WT=DVs1

2104 wT=WT/200"

2106 WT=10"WT

2108 WT=WT/20"

2109 AsWT 241

2110 LGY LOG(AI/LOG(IO)
2120

2130 GY2 INT(J-H LGY*8)
2132 DEG=ATN(WT)

2134 DEG=(DEG*180}/3.14159
2130 DY2=INT(344-(DEG*64)/
2150 LINE(X1,GY1)-(X2,GY
2160 LINE (X1,DY1)-(X2,D’
2170 X1=X2:GY1=GY2:DY1=DY2

2180 NEXT I
2190 ANSS=INPUTS(1)
2492 IF ANS$=" " GOTO *BS

201)
2),2
Y2).3

2194 lF ANSS:"B" OR '\NSS="b" GOTO *B3

2502 CLS 3:WIDTH 80,25
2510 GOSUB *SCALE2

2512 LOCATE 10,1:PRINT “0"
2514 LOCATE 10,5:PRINT
2516 LOCATE 10,9:PRINT
2518 LOCATE 10,13:PRINT
2520 LOCATE 10,17:PRINT "-40"
2522 LOCATE 10,21:PRINT “-50"
2524 LOCATE
2526 LOCATE
2528 LOCATE
2530 LOCATE
2532 LOCATE
2534 LOCATE 43,11:PRINT "6
2510 LOCATE 2
2560 X1=112:W
2561 A=WT 2+l
2562 LGY=LOG(A)/LOG(10)

2563 LGY=-10*LGY

2564 GY1=INT(24+LGY8)

2566 DEG=(-1)*ATN(WT)
DEG=(DEG*180)/3.14159
INT(24-(DEG*64)/20")

2580 D!
2590 Fon 1=1 T0 416

GOTO 100
GOTO 7880
GOTO 7890
~RERER ok

2600
2602
2604
2606
2608 HT=VT/20‘
2609 ASWT 241
2610 LGYZLOG(A)/LOG(10)
2620
2630 GY2=INT(24-LGY*8)
2632 DEG=ATN(WT)
2634 DEG=(DEG*1801/3.14159
2640 DY2=INT(244+(DEG*64)/201)
2650 LINE(X1,GY11-(X2,6V2),2
2660 LINE (X1,DY1)-(X2,D¥2),3
2670 X1=X2:GY1=GY2:DY1=DY2
2680
2990 ANS$=INPUTS(1)
GOTO *B6
OR ANSS$="b" GOTO *B4
OR ANS$="r" GOTO 100
OR ANS$="e” GOTO 7880
2997 IF ANS$:="S" OR ANS$="s" GOTO 7890
3000 *B6 =TI EEREER]

3002 CLS 3:WIDTH 80,25
3010 GOSUB *SCALE3

3012 IF ANS$="R" OR ANSS
3014 IF ANS$="E" OR ANSS
3016 IF ANS$="S" OR ANS$="
3018 LOCATE 12,12:PRINT
3020 LOCATE 12,15:PRINT *
3022 LOCATE 12,18:PRINT
3024 LOCATE 12,21:PRINT "-40"
3026 LOCATE 20,1:PRINT "% % %
3030 ZETA() 05:ZETA(2)=.1
3032 ZETA(3 ETA(4)=.3
ETA(6)=.6

3038 FOR I= l TO 7

tiWe.l
128:WN2=WN"2

3046 A=LOG(WN2)/LOG(10}
3048 A=20%A

3050 WAZ(WN2-W"2)"2

3052 WB=(2%ZETA(1)*WN*W) 2
3054 B=LOG(WA+WB)/LOG(10}

LGY=A-B
3058 GY1=INT(152-(LGY*48)/1
3060 DvV=4

o4

L A%

SPRINT "% % % ~ X B DF -+ B * *x 7
05

ZRBEHAROK - FERE ok x

o)
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3062 FOR J=1 TO 100

3064 X2=1284DV*J

3066 W=DVxJ

3068 W=W/WN

3069 W=4/200!

3070 W=10"W

3072 W=W/10!

3074 WAS{WN2-W"2)"2

3076 HBH?‘ZETA(H‘"V'U) 2
3077 WAB=WA

3078 B= LOG(P«AB]/LOGI 10}

3079 B=10*B

3080 -

3082 NT(152-(LGY*48)/10")
3084 LINE (X1,GY1)-(X2, Gy2),2
3086 X1=X2:GY1=GY2

3088 NEXT J

3090 NEXT 1

3092 ANS$=INPUT
3094 IF ANS$="
3095 IF ANS
3097 IF ANS:
3098 IF ANS
3099 IF ANS

1)
GOTO 3100

3100 CLS 3:WIDTH 80,25 ‘*ssssssssssssrsessxsresrs

4110 GUSUB *SCALEL

3112 LOCATE 14,3:PRINT
3113 LOCATE 12,5:PRINT
3114 LOCATE 12,7:PRINT
3115 LOCATE 12,9:PRINT "-
3116 LOCATE 12,11:PRINT "-80"
3117 LOCATE 11,13:PRINT
3118 LOCATE 11,15:PRINT
3119 LOCATE 11,17:PRINT
3120 LOCATE 11,19:PRINT
3122 LOCATE 11,21:PRINT

3126 LOCATE 20,1:PRINT "* *x * “ X HMHBARXOF - F @&

05:ZETA(2)=.1

3142 ‘(IHIZS HNZ WNT2

3150 B=WN2-W"2

3152 A=2%ZETA(1)*WNsW

3156 DEG=-1*ATN(A/B)

3157 DEG=(DEG*180}/3.14159
3158 GY1=INT{56-(DEG*32)/20!)
3160 Dv=4

3162 FOR J=1 TO 100

3164 X2=1284DV*J

3166 wW=DV*J

3168 W=W/WN

3169 wW=W/200!

3170 Wz10"W

3172 w=w/10!

3174 B=WN2-W"2

3176 A=2%ZETA(1)sWN*W

3178 IF ABS(B)<.001 THEN GOTO 3184
3179 DEG=(-1)*ATN(A/B}

3180 DEG=(DEG*180')/3.14159
3182 GOTO 3186

3184 DEG=- 91

3186 IF DEG>0 THEN DEG=DEG-180:
3188 GY2=INT(56-(DEG*32)/20!)
3190 LINE (X1,GY1)-(X2,6Y2),2
3192 Y1=GY2

3194 Ni.\T J

3196 NEXT I

3498 ANSS=INPUTS(1)
3500 [F ANSS=" “ GOTO *B7
" OR ANS$="b" GOTO *B5

3514 CLS 3:WIDTH 80,25
3516 GOSUB *SCALES

3518 LOCATE 10,6:PRINT “0"
3520 LOCATE 68,6:PRINT
3530 LOCATE 68,11:PRINT "
3540 LOCATE 68,16:PRINT “-60"
3550 LOCATE 68,21:PRINT “-90"
3552 LOCATE +5:PRINT “"g
3554 LOCATE 44,15:PRINT "6 "

w
Y

3556 LOCATE 26,0:PRINT "% % * G A S ME R O A — b M@ % % 4 *

3560 X1=104:W=.01
3562 LGY=LOG(1)/LOG(10)
1= lNT(I04 ~LGY*8)

INT(104-LGY*8)

W=DV*]

W=W/144"

W=10"W

W=W/100!

DEG=(=-1)*W*TAU
DEG*180!)/3.14159
DY2=INT(104-(DEG*80)/30®)
LINE(X1,GYV1)}-(X2,G6Y2),2
LINE (XI,DY1)-(X2, D\Ai.J
X -X2 GY1=GY2:DY1= D\2

$= NPL‘TS( I l

GOTO *B6
GOTO 100

1002 CLS 3:WIDTH 80,25

4010 GOSUB *SCALE6

4020 LOCATE 22,1:PRINT "50"
4022 LOCATE 22,3:PRINT "40"
4024 LOCATE 22,5:PRINT "30"
4026 LOCATE 22,7:PRINT "20"
4028 LOCATE 22,9:PRINT "10"
4030 LOCATE 23,11:PRINT "0"
4032 LOCATE 21,13:PRINT "*lO"

4042 LOCATE 30,0:PRINT "% * ¥ X — FBBE DGR (¥ 1 2 ) * * %

4050 K=5:T1=3.33:T2=.5

4052 LOCATE 0,8:PRINT “K=";K
4054 LOCATE 0,10:PRINT "T1=";T1
4056 LOCATE 0 12 PRlNT "T2=";T2
4060 AX1=200

4070 DUM LOG(K)/LOG(IO) DUM2=LOG(W)/LOG(10)

4080 LGY=20*DUM1-20%*DUM2

4090 AGYI=INT(184-(LGY*32)/10!)
4100 BX1=200:W=.01

4110 BWT1=WxT1

4120 B=BWT1°2+1

4130 LGY=LOG(B)/LOG(10)

* ok ok ok MR EFM T M x ok x *

GOTO 7880
GOTO 7890
EEMM &R * % % *

4140 LGY=10*LGY

4150 BGYI!INT(IS‘ (LGY‘JZ)/IO')
4160 CX1=200:W=.

4180 CWT2:=W*T2

4190 C=CWT2"2+1

4200 LGY=LOG(C)/LOG(10}

4210 LGY=-10%LGY

4220 cGYl= INTHS‘ (LGY*32)/10!)
4221 TX1=200

4222 TGY1=AGY1+BGY1+CGY1-3#184+184

4230 DV=4

4240 FOR I=1 TO 100
4250 X222004DV*I
4260 AX2=X2:BX2=X2:CX2=X2
4262 X2

4270

4280

4282

4290

4300 B=(WsT1) 241
1310 C=(WsT2) 241

4312 DUM1=LOG(K}/LOG(10}

4324 DUM2=LOG(W)/LOG(10)

4326 LGY=20*DUM1-20%DUM2

4328 AGY2=INT(184-(LGY*32)/10!)
4330 LGY=LOG(B)/LOG(10)

4332 LGY=10%LGY

4334 BGY2=INT(184-{LGY*32)/10!)

4340 CGY2=INT(184-{LGY*32)/10!)
4342 TGY2=AGY2+BGY2+CGY2-3*%184+184

4344 LINE(AX1,AGY1)-(AX2,AGY2),6
4346 LINE(BX1,BGY1)-{BX2,BGY2),5
4348 LINE(CX1,CGY1)-{CX2,CGY2),4
4350 LINE(TX1,TGY1)-(TX2,TGY2),2

4352 AX1=AX2:BX1=BX2:CX1sCX2

4354 TX12TX2:AGY1=AGY2:BGY1=BGY2
4356 CGY1=CGY2:TGY1=TGY2

4358 NEXT I

4490 ANSS=INPUTS(1)

GOTO 4500

OR ANS$="b" GOTO *B7
R" OR ANS$="r" GOTO 100
OR ANS$="e" GOTO 7880
OR ANS$="s" GOTO 7890

4502 CLS 3:WIDTH 80,25

4510 GOSUB *SCALE?

4520 LOCATE 22,1:PRINT "90"

4522 LOCATE

4524 LOCATE

4526 LOCATE 23,10:PRINT "0°

4530 LOCATE 21,13:PRINT "-30"

4532 LOCATE 21,16:PRINT "-60"

4534 LOCATE 21,19:PRINT "-90"

4536 LOCATE 30,0:PRINT "% * % K — I @&

4538 K=5:T1=3.33:T2=.5

4540 LOCATE 0,8:PRINT "K

4542 LOCATE 0,10:PRINT "T1

4544 LOCATE 0,12:PRINT "T2=

4546 AX12200:%=.01

4550 DEG=-90

4552 ADlelNT(lSB (DEG*48)/30!)

4554 BX1=200:W=,

4556 BWT1=WeT1

4562 DEG=ATN(BWTI)

4563 DEG=(DEG¥180)/3.14159

Y1=INT(168-(DEG*48)/301)

4566 CX1=200:W=.0

4568 CWT2=WeT2

4574 DEG=(-1)*ATN(CHT2)
:G=(DEG*180)/3.14159

=INT(168-(DEG*481/301)

iT2

-
@
@
s
®

0
DYL+BDYL+CDY1-3*168+4168

4584 FCIR I=1 TO 100
4586 X2=200+DV*T
2:BX2=X2:CX2=X2

G=(DEG*180)/3.14159
4614 BDY2=INT(168-(DEG*48)/30!)
4618 CWT2=W*T2
4620 DEG=(-1)*ATN(CWT2)
4630 DEG=(DEG*180!)/3.14159
Y’ NT(168-(DEG*48)/30!)
TDY2=ADY2+BDY2+CDY2-3+168+4168

4700 LINE{AX1,ADY1)-{AX2,ADY2),6

4710 LINE(BX1,BDY1)-(BX2,BDV2),5

4720 LINE(CX1,CDY1)-(CX2,CDY2),4

4730 LINE(TX1,TDY1)-{TX2,TDV2),2
2:BX

GOTO *B7
4820 ll> ANS - A GOTO *B9
" GOTO 7880

1840 u- A GOTO 7890

Boam (18) * % *

6002 (‘LS 3: thTH 80,25

6005 MPLT K V)ﬂlﬂ&kﬂ‘lf?h 8
6006 LOCATE 4,

6007 INPUT "Tltl)ﬂﬂ&kn'(}'éh (&}

6008 LOCATE 4,12

6010 INPUT "sznu&knr Faw(m

6015 CLS 3

6020 GOSUB *SCALE6
6120 LOCATE 22,1:PRINT "50"
6122 LOCATE 22,3:PRINT "40"
6124 LOCATE 22,5:PRINT "30"
6126 LOCATE 22,7:PRINT “"20"
6128 LOCATE 22,9:PRINT 10"
8130 LOCATE 23,11:PRINT "0
6132 LOCATE 21,13:PRINT
6134 LOCATE 21,15:PRINT
21,17:PRINT
21,19:PRINT
21,21:PRINT

:T1=3.33:T2
6152 LOCATE 0,8:PRIN

6156 LO('ATE 0.|2:PRINT T2
6160 AX1:=200:W=.0

0
30,0:PRINT " * * X — FREBOER (7 1 ) * % x "



HEPMARIESEFEME
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6170 DUM1=LOG(K)/LOG(10):DUM2=LOGIW)/LOG(10)
6180 LGY=20%*DUMI-20*DUM2

6190 AGY1=INT(184-(LGY*321/10")

6200 BX1=200:w=.01

6210 BWT1=WsT]

6220 B=BWT1 2+1

LGY LOG(B)/LOG(IO)

£250 BGYl= I‘lT(lSl -{LGY*321/10%)
6260 CX12200:
6280 CWT2= U‘TZ
6290 C=CWT2 241
LGY LOGIC)/LOG( 10)

6340 FOR I=1 TO 100

6350 X222004DV*1

6360 AX2:X2:BX22X2:CX2=X2
6362 TX2:X2,

6426 LGY=20*DUM1-20*DUM2
Al NT(184-(LGY*32)/10!)
8430 LGY=LOG(B)/LOG(10)
6432 LGY=10*LGY
6434 BGY2=INT(184-(LGY*32)/10!)
)

6438 LGY=-10%LGY
6440 CGY2=INT(184-(LGY*32)/10!)
6442 TGY2=AGY2+BGY2+CGY2-3%184+184

6444 LINE(AX1,AGY1)-(AX2,AGY2),6
6446 LINE{BX1,BGY1)-(BX2,BGY2),5
6448 LINE(CX1,CGY1)~-(CX2,CGY2),4
6450 LINE(TX1,TGY1)-(TX2,TGY2),2

6452 AX1=AX2:BX1=BX2:CX1=CX2

6454 TX1=TX2:AGY1=AGY2:BGY1=BGY2
6456 CGY1=CGY2:TGY1=TGY2

6458 NEXT 1

6490 ANSS$=INPUTS(1)

GOTO €500

OR ANS$="b" GOTO *B7
OR ANS$="r" GOTO 100
E" OR ANS$="e" GOTO 7880
OR ANS$="s" GOTO 7890

6502 CLS 3:WIDTH 80,25
6510 GOSUB *SCALE7
6520 LOCATE 22,1:PRINT “90"
6522 LOCATE 22,4:PRINT "60"
6524 LOCATE 22,7:PRINT "30"
6526 LOCATE 23,10:PRINT "0"
6530 LOCATE 21,13:PRINT “-30"
6532 LOCATE 21,16:PRINT
6534 LOCATE 21,19:PRINT

6536 LOCATE 30,0:PRINT "% % x X — FMB O R () * * *°

6538 'K=5:T1=3.33:T2=.5
6540 LOCATE 0,8:PRINT
6542 LOCATE 0,10:PRINT
6544 LOCATE 0,12:PRINT "T2=";T2
00:W=.01

90
NT(168-(DEG*48)/30!)
6554 BXI 200:W=.01

8556 BWT1=W*T1

6562 DEG=ATN(BWTL)

6563 DEG=(DEG*180)/3.14159
6564 BDY1=INT(168-(DEG*48)/30!)
6566 CX1=200:W=,01

6568 CWT2=W*T2

6570 DEG=(-1)*ATN{CWT2)

6575 DEG=(DEG*180!)/3.14159

6576 CDY1=INT(168-{DEG*4R}/30")
6578 TX1=200

6580 TDY1=ADY1+BDY1+4CDY1-3%168+168
6582 DV=4

6584 FOR I=1 TO 100

6586 X2=2004DV*1

6588 AX2=X2:BX2=X2:CX2=X2
6590 TX2=X2

6592 W=DVel

6594 W=W/100

6596 w=10"

6598 W=W/100!

6600 DEG=-90

NT(168-(DEG*48)/30!)
*T1

WT:

6630 DEG=ATN(BWT2)

6640 DEG=(DEG*180)/3.14159

6650 BDY2=INT(168-(DEG*48)/30!)
6668 CWT2:=WsT2

6672 DEG=(-1)*ATN(CWT2)

6674 DEG=(DEG*180)/3.14159

6676 CDY2=INT(168-(DEG*48)/30!}
6680 TDY2=ADY2+BDY2+CDY2-3%168+168

6700 LINE(AX1,ADY1)-(AX2,ADY2),6
6710 LINE(BX1,BDY1)-{BX2,BDY2},5
6720 LINE(CX1,CDY1)-(CX2,CDY2),4
6730 LINE(TX1,TDY1)-(TX2,TDY2},2

6740 AX1=AX2:BX1=BX2:CX1=CX2
6750 TX1=TX2:ADY1=ADY2:BDY1=BDY2
6760 CDY1=CDY2:TDY1=TDY2

6780 NEXT I

6790 ANSS=INPUTS$(1)

6792 IF ANS$=" " GOTO 100

6794 IF ANS$S="B" OR ANS$=" *B8
6795 IF ANS$="R" OR ANS$ 100
6796 IF ANS$="E" OR ANS$ 7880

6797 IF ANS$="S" OR ANS$="s" GOTO 7890

7502 CLS 3:WIDTH 80,25

7510 GOSUB *MESSAGE

7520 IF ANS$="R" OR ANSS‘" ' GOTO 100
7530 IF ANS$="E" OR ANSS$ " GOTO 7880
7540 IF ANS$="S" OR ANSS$= GOTO 7890
7880 WIDTH 80,25

7885 RUN "END.MIP" "% % x ## H D * * % %
7890 RUN "MIPP-4.SYS"

END
8000 *COURSE

0 1=
8015 RESTORE 'KOSU
8020 FOR J=1 TO
8030 READ CDAT‘IJ)

[ 33
8110 DATA "® o B %
8120 DATA "~ X Eh ER

DATA "G %
DATA e

I %
8
E -

"

CCEERER SR

‘cLs 3

LOCATE 4,3
8 P

PRINT " sx* 3 - g
COLOR@ (4,3)- (37 36
LOCATE 0,6
LN=6
FOR J=1 TO T STEP 2
LOCATE 3,LN :PRINT J;CDATS(J):J41;CUATS(J¢1)
COLOR@ (3,LN}-(37,LN),6
FOR LOS=0 TO 1500 :NEXT LOS
LN=LN+2
NEXT J
RETURN
*MESSAGE TR oKk Ayt ok ok ok KK
cLs 3
LOCATE 0,5
PRINT " $E7075.Ln BR EATLEEA"
FOR LOS=0 TO 1500 :NEXT LOS
PRINT
PRINT * f8® 2 -2 32 Xx=a% &°
FOR LOS=0 TO 1500 :NEXT LOS
PRINT
PRINT " & 8 ¥ ¢ £ & un"
ANSS=INKEYS
IF ANS$=" " THEN GOTO 8390

GOTO 8360

RETURN

*WAKU R EEEEEEEEEE
cLs 3

LOCATE 1,1:PRINT STRING$(37,"*")

LOCATE 1,20:PRINT STRINGS$(38,"*")
X=1
FOR Y=1 TO 19
LOCATE X,Y:PRINT "*"
NEXT Y
X=38
FOR Y=1 TO 19
LOCATE X,Y:PRINT “*"
NEXT Y
COLOR® (0,0)-(39,21),3
*COLORe (2,2)-(37,19),6
PRINT
RETURN
*DISPMENU T ok ok Kk Kk ok ok K K K K K K K

LOCATE 0,6
LN=6
FOR J=1 TO I STEP 2

LOCATE 3,LN:PRINT J;MENS(J);J+1;MENS(J+1)
COLOR® (3,LN)-{37,LN},6
FOR LOS=0 TO 1500 :NEXT LOS
LN=LN+2
NEXT J
RETURN
*SCALE1 EEEEENT.EETER BRI NE]

LINE (128,241-(1284400,40+304),7,B
FOR I=1 TO 7
LINE (128,1%40+24)-(528,1%40424),7, ,4HFFEQ
NEXT
LG'LOG( 2/.1): LGILG/LOQ(lO)
VL(1)=INT(128+LG*200"
G/

FOR I=1 TO §

E

LOCATE 8,10:PRINT "> "
LOCATE 8,13:PRINT "g "
LOCATE 8,16:PRINT "dB"

7 IN
LOCATE 72,10:PRINT "6 "
LOCATE 72,13:PRINT "deg”
LOCATE 15,22
PRINT l)l 0.5 1 2
LOCATE 30,23: PR[N‘I‘" w (dmpEgn) "
RETURN

*SCALE2 EEEEEN 1 PR S R

AR
LINE (112 24)-(112+416,404304),7,B
FOR I=1 TO 4
LINE (112 1%64424)-(528,1%64+24),7, ,&HFFEO
NEXT X
LG=LOG( .1/.05) :LG=LG/LOG(10)
1)

.G/LOG(10}
VL{2)=INT( llz&LG‘lﬁO' )
LG=LOG(.5/.05):LG=LG/LOG(10)
VL(3)=INT(1124LG*160!)
LG/LOG(10)

:LG=LG/LOG(10)
NT(112+4LG*160!)
0G(5!/.05):LG=LG/LOG(10}

60
LOG(10!/.05):LG=LG/LOG(10)
VL(7)=INT(1124LG*160!}

FOR I=1 TO 7
LINE (VL(1),24)-(VL(I),344),7,,4HFFEO
NEXT I
LOCATE 6,4 :PRINT "‘/"
LOCATE 6,7:PRINT "4 "
LOCATE 6,10:PRINT "> "
LOCATE 6,13:PRINT “"g "
LOCATE S.lG:PRlNT "dB"
LOCATE 74,4:PRINT "1 "

LOCATE 74,13:PRINT "deg"
LOCATE 12,22
PRINT"0. 05 0.1 0.2 0.5 1 2
LOCATE 28,23:PRINT" T (HEE®D) "
RETURN
#SCALE3 '* * * * ¥ _REMOY 1 % * % x %
LINE (128,48+48)- (lzsuoo 56«233).7 B
FOR I=1 TO §
LINE (128,1%48456)-(528,1#48+56),7,,4HFFEO0
NEXT 1
LG=LOG(.2/.1):LG=LG/LOG(10)
VL(1)=INT(128+LG*200!)
LG=LOG(.5/.1):LG=LG/LOG(10)
VL(I) lNT(lZS&LG'200')
11/.1):LG=LG/LOG(10)
vt.(a) lm'uzsﬂ.etzoo )
LG=LOG(2!/.1):LG=LG/LOG(10)
VL(4)=INT(128+LG*200!)
LG=LOG{5!/.1}:LG=LG/LOG(10)



NR=YFNIAVE2—FERAVLREY AT L

137

9380 VL(5)= lNT(lZGQLG‘ZOQ )
9400 FOR I=1
9410 . LINE 1VL(ll.56) (VL{1),344),7,,&HFFEO
9420 NEXT I
9430 LOCATE 8, 1:PRINT "¥ "
9440 LOCATE 8,7:PRINT “4 "
9450 LOCATE 8,10:PRINT " "
9460 LOCATE 8,13:PRINT “g "
:PRINT “"dB"

0.5 1 2 5 10"

9530 I.OCA‘I'E 26,23: PRIN‘I‘ w/wn (HBERN) "
9532 RETURI
sson-scue«a Tk ok ok kX _RBERHOWE* * x £ x %
9610 LINE (123 56)~ (lzsuoo 564288),7,B
9620 FOR I=1
9630 LlNE (|28 1%32456)-(528,1%32456),7, , 4HFFEV
9640 NE.
9642 =LOG(.2/.1):LG=LG/LOG(10)
9650 NT(128+LG$200! )
9652 0G(.5/.1):LG=LG/LOG(10)
9654  VL(2)=INT(128+4LG*200!)
9656 LG=LOG(1!/.1):LG=LG/LOG(10)
9660  VL(3)=INT(128+LG*200!)
9662 LOG(2!/.1): LG!LG/LOG(IOI
9670 NT(1284LG*200!
9672 LG LOG(51/.1):LG= LG/LOG(\O)
9680 VL(ﬁ):lNT(lzﬂ'LGtZOO'
9700 FOR I=1 TO
9710 LINE (vux) 56)-(VL(1),344),7, ,&HFFEQ
9720 NEXT I
9780  LOCATE 8,4:PRINT "fI"
9790  LOCATE 8,7:PRINT "#1"
9900  LOCATE 8,10:PRINT "6 "
9910  LOCATE 8,13:PRINT "deg”
9912 LOCATE 15,22
9914 PRINT “0.1 0.2 0.5 1 2 5 10"
9930 LOCATE 26,23:PRINT" w /wn (HEESD) "
9932 RETURN
10000 *SCALES ‘tt:ttgnﬁm!gtntnttt
10010 LINE (96+8, 24) (104+432,244320),7
wozo FOR 1=1 TO

0030 LINE (104 1#80+24)-(536,1%80424),7, ,AHFFEO
|00¢o NEXT
10042 LGnLoc( 02/.01):LG=LG/LOG(10)
10050
10052
10054
10056
10060
10062
10070
10072
10080 vuﬁ)-lN'rHMn.Gnu')
10082 LG=LOG(1!/.01):LG=LG/LOG(10}
10084  VL(6)=INT(104+LG*14
10086 LG=LOG(2!/.01):LG=LG/LOG(10}
10088  VL(7)=INT(104+4LG*14
10090 LG=LOG(5!/.01): G/LOG(10)
10092 VL(8)=INT(1044LG*144"')
10094 FOR 1=1 TO 8
10100 LINE (VL(1),24)-(VL(1),344),7, &HFFEO
10110 NEXT I
10120 LOCATE
10140 LOCATE
10150  LOCATE
10160  LOCATE
10170 LOCATE
10180  LOCATE
10190  LOCATE 72,
10200 LOCATE 72,10:PRINT "8 "
10210 LOCATE 72,13:PRINT “deg”
10220 LOCATE 12,22
10222 PRINT “0.01 0.02 0.05 o l 0.2 0.5 1 2 5 10"
10230 LOCATE 35,23:PRINT" w H@mBE2D)
10235  RETURN
10300 $SCALE6  '* % * % t(ﬁumnei ( YL %
10310 LINE (200,24)-(200+400,24+320),
10320 FOR I=1 TO
10330 le: (200,1%32424)-(600,1%32+24),7, ,4HFFEO
10340 NE
10342 Lo:LOG( 05/.01):LG= LG/LOG(IO)
10350 vun:mnzoou.ctmo
10352 G/LOG(10)
10354
103 G/LOG(10)
1036
10362 : G/LOG(10)
10370 VLu)-xNT(zoowc-loe' )
10372 0G(5!/.01):LG=LG/LOG(10)
10380 0
10382 0/
10384  VL(6)=INT(2004LG¥100!)
10386 LG=LOG(50/.01): LG=L
10368 VL(7)=INT(200+4LG*100!)
10394 FOR 1=1 TO 7
10400 LINE (VL(I),24)-(VL(1),344),7, &HFFEO
10410 NEXT I
10430 LOCATE 23,22

5 10 50 100"

10450 LOCATE 18 lO PRINT "> "
10460 LOCATE 18,13:PRINT “g "
10470 LOCATE 18,16:PRINT "dB"

10500 *SCALE7 '* % » » *  @BIM AR (X #) * » %

10510 LINE (200, 24) -(2004400,24+288),7,8

10520 FOR 1=1 TO

10530 LINE (200 1#48+24)-(600,1448+24),7, ,4HFFEO

10540 NEX'

10542 Luznoc( 05/.01):LG=LG/LOG(10)

10550  VL(1)=INT(200+LG*100!)
LG=LOG(.1/.01):LG=LG/LOG(10)

NT(2004LG*100!)

10556 G(.5/.01):LG=LG/LOG(10)
10560 VL(3)=INT(2004LG*100!)
10562 LG=LOG(1!/.01):LG=LG/LOG(10)
10570 VL(!)-INT(ZOOOLG‘IGO')
10572 LOG(5!/.01):LG=LG/LOG(10)
10580 VL(5)=INT(2000LG‘]00 )
10582 LG=L0OG(10/.01):LG=LG/LOG(10)

10584 VL(G):INT(ZOOOLG']DO"
L0G(50/.01):LG=LG/LOG(10)
N‘l’( 2004[&'100')

10595 LINE (VL(I) 24)-(VL(1),312),7, ,&HFFE0Q

10596 NEXT I

10597 LOCATE 23,20

10598 PRINT "0.01 0.05 0.1 0.5 1 5 10 50 100"
10600 LOCATE 18,10:PRINT "6 "

10610 LOCATE 18,13:PRINT “deg"

10630 LOCATE 40,22:PRINT" (dmB@an) "

10680 LOCATE 18,4:PRINT "8I "

10690 LOCATE
10700 RETURN







